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INDIAN SCHOOL AL WADI AL KABIR 

Class: IX Department: SOCIAL SCIENCE Date of submission: 

Revision 

Worksheet  

Topic: People as Resource.    Year:2021-22 

Multiple Choice Questions: - 
 
Q.1. Why is literacy rate low among the females in India? 
(a) lack of equal Educational opportunities  
(b) lack of transport facilities 
(c) lack of infrastructure                                                 
(d) lack of income 
Q.2.Which one of the states has highest literacy rate in India? 
(a) Kerala                           
(b) Madhya Pradesh                      
(c) Bihar                             
(d) Orissa 
Q.3. Which one of the following is a significant step towards providing basic Education to the 
children in the age group of 6-14 years? 
(a) Sarva Siksha Abhiyan               
(b) Adult Education Programme                
(c) Mid-day meal             
(d) None of the above 
Q.4. The scheme for the establishment of residential schools to impart education to talented 
children from rural areas is 
(a) Kendriya Vidyalaya’s  
(b) Navodaya Vidyalaya’s               
(c) Sarvodaya Vidyalaya’s             
(d) None of the above 
Q.5. Disguised unemployment could be traced in 
(a) mining activity     
(b) service sector 
(c) agriculture     
(d) social forestry 
Q.6. Increase in longevity of life is an indicator of 
(a) good quality of life 
(b) improvement in health sector 
(c) better HDI (Human Development Index) 
(d) all of the above 
Q.7.If a person cannot find jobs during some months of the year, which type of Unemployment 
is this called? 
(a) Structural unemployment 
(b) Cyclical unemployment 
(c) Seasonal unemployment 
(d) None of these 
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Q.8. Which one of the following is the most labour absorbing sector of the Indian economy? 
(a) Primary sector 
(b) Tertiary sector 
(c) Secondary sector 
(d) Private sector 
Q.9. Infant mortality rate is the death of a child under 
(a) One year 
(b) Three, year 
(c) Two year 
(d) Four year 
Q.10. The workforce population includes people from 15 years to  
(a) 70 years 
(b) 65 years 
(c) 59 years 
(d) 55 years 
Q.11. Decrease in IMR (Infant Mortality Rate) of a country signifies: 
(a) Increase in life expectancy 
(b) Increase in GNP 
(c) Economic development of a country 
(d) Increase in number of colleges in a country 
Q.12. Which one of the following is considered important to create a ‘virtuous cycle’ by the 
parents? 
(a) To send their children to school 
(b) To provide good food to their children 
(c) To join their children in corporate schools 
(d) To take care of the health and education of their children 
Q.13. Where is Seasonal unemployment found? 
(a) Urban areas 
(b) Rural areas 
(c) in remote areas 
(d) Both in rural and urban areas 
Q.14. Which one of the following is included in the Secondary sector? 
(a) Trade 
(b) Marketing  
(c) Manufacturing 
(d) Education 
Fill in the Blanks. 
1.Literate and healthy population is considered an __________. 
asset for the country. 
2.Human Capital is the stock of Skills and _______________embodied in them. 
Productive knowledge 
3. Population of a nation becomes human capital through Education, Training and ________. 
Medical care. 
4. The woman working in unorganised sector has_______ than that in organised sector. 

lower wages 
5. The health of a person helps him to realize his potential, and the ability to _______. 
fight illness. 
True or False. Correct the statement if False.  
1. Vocational education refers to Elementary Schooling.  
Ans. False, Vocational education refers to as career education or technical education. 
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2. The aim of mid-day meal scheme is to encourage attendance and retention of children and 
improve their nutritional status. 
Ans.True 
3. Educated unemployment usually occurs in rural and remote areas where there are educated or 
technically qualified people but no job opportunities available to them. 
Ans. False, educated unemployment usually occurs in cities where there are educated or 
technically qualified people but no job opportunities available to them. 
4. Death rate is the number of people per 1,000 who die during a particular period of time. 
Ans.True 
 
Assertion and Reasoning. 
In the question given below, there are two statements marked as Assertion (A) and Reason (R) 
Read the statements and choose the correct option. 
 1. Assertion (A): Market activities are performed for pay or profit. 
 Reason (R): Non-Market activities are performed for self-consumption. 
(a) Both A and R are true and R is the correct explanation of A. 
(b) Both A and R are true but R is not the correct explanation of A. 
(c)  A is correct but R is wrong. 
(d)  A is wrong but R is correct. 
 
2. Assertion (A): Educated Population is an important input for the growth of the country.  
Reason (R): Education opens New horizons, provide new aspiration & develops value for life. 
(a) Both A and R are true and R is the correct explanation of A. 
(b) Both A and R are true but R is not the correct explanation of A. 
(c)  A is correct but R is wrong. 
(d)  A is wrong but R is correct 
 
3.Assertion (A): Unemployment affects the overall growth of the Country.  
Reason (R): It leads to Wastage of Manpower & increases economic overload. 
(a) Both A and R are true and R is the correct explanation of A. 
(b) Both A and R are true but R is not the correct explanation of A. 
(c)  A is correct but R is wrong. 
(d)  A is wrong but R is correct 
 
4.Assertion (A): Japan have invested in human resource. They have invested on people 
especially in the field of education and health  
Reason (R): These countries are Underdeveloped countries.  
(a) Both A and R are true and R is the correct explanation of A. 
(b) Both A and R are true but R is not the correct explanation of A. 
(c)  A is correct but R is wrong. 
(d)  A is wrong but R is correct 


